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MERERSTE(ToA—RILE, EZEHHKEEEKN=2.0)

1. = XHEILMMUBERNI=VE
2 &= PDFY—P112-140M—G, PDZ—KP112-140FM5
3. R @iz
(OEREE (EREE) W= 52 kg
(27 h—RILk
A% N= 4 PN
QAR Rtk M= 10 #
@R LY DEHETETE (FFEICKDITETE) A= 78 mm=  78X10°  m?
OHBEEEEZIHEDEIRYEZ T DRAIOT7TUA—RILEDRAR Nt= 2 ¥
QEMAELYHRBELETORS Hg= 168 mm = 0.168 m
(MRET BARADNSHT=RILERI L= 710 mm = 0.71 m
(BYRET BAAD DA TRILEFILNSHEESRE D FETO B Lg= 305 mm(Lg=L2)= 0.305 m
4. REHE(BREQ/MRUTHEZEIERALTEL)
(NEERKEEE Kh= 20
(2)RETRMERE Kv=Kh/2= 1.0
(R)FJEFKFEHES Fh=Kh:W-:9.8= 1019.2 N
(A)EETASREHESD Fv=Kv-W-:9.8= 509.6 N
(BYF v H—mRILLDEIHR S oog FhHe+(W-9.8+Fv)-(L-Le)
L-Nt = 4113 N
B)YFvh—RILEDE AR D Q=Fh/N= 254.8 N
(NTUh—RILMNZETRIENE
@BIERIENE 0=Rb/A= 53 MPa< ft=176.4MPa
QEAMISHE T=Q/A= 33 MPa<fs=132.3MPa
@BIREEAMERBFCRITDIHE fts=1.4ft—16T = 2417 MPa
o= 53 MPa < fts= 2417 MPa

B)YF U h—HRILEDIET %

D7 H—RILE DL % = BARXLBTII-

@avy)—tOES = 150 mm = 0.15 m

@RI DIBRARES = 110 mm = 0.11 m
@HFABIRME Ta= 3528 N > Rb= 4113 N
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